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Section : Part-A-General Intelligence and Reasoning
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Q.1 Three different positions of the same dice are shown. Find the number on the face opposite the

Question ID : 26433089455
Status : Answered
Chosen Option : 2

Ans X 1.FDCB
« 2. FEDB
< 3.FEDC
/< 4. FDBA

Q.2 Which letter-cluster will replace the question mark (?) to complete the given series?
ZYXV, UTSQ, PONL, KJIG, ?

Question ID : 26433067719
Status : Answered
Chosen Option : 2

Ans X 1.JDNVL
2 2. JDNWL
5 3. JCNVL
4. JCMVL

Q.3 In a certain code language, GUIDE is written as ‘KWMFI’, and SLICE is written as
‘WNMEF’. How will ‘FAITH’ be written in the same code language?

Question ID : 26433067988
Status : Answered
Chosen Option : 4




Q.4 Six students P,Q,R,S,T and U are sitting around a circular table facing the centre. P is
sitting second to the right of Q. S is an immediate neighbour of both Qand R. U is
sitting third to the left of R. T is an immediate neighbour of both P and R. Who is the

immediate neighbour of P and Q?
Ans X 1.S

X 2T
& 3.U
X 4R

Question ID : 26433068865
Status : Answered
Chosen Option : 3

Q.5 In acertain code language, ‘RESULT’ is written as ‘LUTERS’ and ‘BARLEY’ is written
as ‘ELYABR’. How will ‘HEAVEN’ be written in the same code language?

Ans 7 1. EVNEHA
X 2. EANVHE
#< 3. VEENAH
X 4. AEVNHA

Question ID : 26433079487
Status : Answered
Chosen Option : 1

Q.6 Select the option figure which is embedded in the given figure. (Rotation is NOT allowed).
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Question ID : 26433089776
Status : Answered
Chosen Option : 1




Q.7 Select the option that is related to the third word in the same way as the second word
is related to the first word.
(The words must be considered as meaningful English words and must not be related
to each other based on the number of letters/number of consonants/vowels in the
word)
Mango : Fruit :: Rumba : ?

Ans X 1.Sea
«” 2. Dance
& 3. Tall
< 4. Food

Question ID : 26433079483
Status : Answered
Chosen Option : 2

Q.8 Which two signs should be interchanged to make the below equation mathematically
correct?
81+3+27-8%x24=25

Ans X 1.+and+
X 2. +and-
25 3.+and x
o 4. xand +

Question ID : 264330117533
Status : Answered
Chosen Option : 4

Q.9 Which of the following numbers will replace the question mark (?) in the given series?
198, 194, 185, ?, 144, 108

Ans X 1.172
X 2.175
3. 169
< 4.182

Question ID : 26433076740
Status : Answered
Chosen Option : 3

Q.10 Eight girls P, Q, R, S, U, V, T and W are sitting around a circular table, facing the centre.
V is sitting to the immediate left of Q and to the immediate right of U.W is sitting third
to the left of V and second to the right of P. R is the immediate neighbour of P and Q. T
is sitting fourth to the left of R. Who is sitting third to the left of U?

Ans 1.8
F VA
X3P
X 4T

Question ID : 26433091415
Status : Answered
Chosen Option : 1




Q.11 Select the number from among the given options that can replace the question

mark (?) in the following series.

111, 1
248’ 2177 186" 7124
Ans . 1
179
x 2 1
138
X 3. m
1
M

Question ID : 26433074529
Status : Answered
Chosen Option : 4

Q.12 Which two symbols, from the given options, should be interchanged to make the given
equation correct?
(9+3+169x13)+5-10+ 16 = 206

Ans X 1.xand-
o 2. +and x
& 3.+and -
75 4.+ and x

Question ID : 26433082481

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.13 Select the set in which the numbers are related in the same way as are the numbers of
the following set.
(NOTE : Operations should be performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g. 13 — Operations on 13 such as
adding /subtracting/multiplying etc. to 13 can be performed. Breaking down 13 into 1
and 3 and then performing mathematical operations on 1 and 3 is NOT allowed)
(12, 87, 17)
(19, 117, 20)

Ans 7 1.(13,75,12)
X 2.(8,96,14)
X 3.(11,121,22)
X 4.(15, 69, 9)

Question ID : 26433076480

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.14 Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related
to the third letter-cluster.

NEAR : PVZP :: GONE: ILMC :: TAXI: ?

Ans X 1.GZCR
& 2.RCZK
& 3.vzZCM
 4.VZCG

Question ID : 26433057484

Status : Answered

Chosen Option : 1

Q15 gelect the option figure in which the given figure is embedded (rotation is NOT allowed).

B

Question ID : 26433069593

Status : Answered

Chosen Option : 3




Q.16 Which option represents the correct order of the given words as they would appear in
the English dictionary?
1 danger
2 damage
3 daring
4 darling
5 dark

Ans o 1.21354
X 2.23145
X 3.21345
X 4.31245

Question ID : 26433069291
Status : Answered
Chosen Option : 1

Q.17 In this question, three statements are given, followed by two conclusions numbered |
and Il. Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follows/follow from
the statements.

Statements:

All apples are fruits.

All fruits are vegetables.
Some vegetables are fresh.
Conclusions:

I. All apples are fresh.

Il. Some fruits are fresh.

Ans X 1. Only conclusion | follows.
5 2. Only conclusion Il follows.
«” 3. Neither conclusion | nor Il follows.

75 4. Both conclusions | and Il follow.

Question ID : 26433070386
Status : Answered
Chosen Option : 3




Q.18 Find the options which is related to the third figure in the same manner as second

Ans

figure is related with the first figure. (First figure is the leftmost figure.)

A
g9 | ?

Question ID : 26433078858
Status : Answered
Chosen Option : 4

Q.19 In a family, there are 7 members. X and Y are a married couple. X is the father of L. M is
the wife of L. C is the brother of L. C has one son O. P is the sister of O. How is C

Ans

related to P?
« 1. Father

< 2.Son
25 3. Father’s father
2< 4. Father’s brother

Question ID : 26433074598
Status : Answered
Chosen Option : 1

Q.20 Which of the following letter-clusters will replace the question mark (?) in the given

Ans

series?
DHMO, EILN, FJKM, ?, HLIK

2 1. GLKL
X 2.GLJL
« 3. GKJL
X 4. HKJK

Question ID : 26433076437
Status : Answered
Chosen Option : 3

Section : Part-B-General Knowledge and General awareness




Q.1 'Paika’ is a folk dance performed by members of the society in

Ans X 1. Maharashtra
< 2. Tamil Nadu

5 3. Haryana
o 4. Jharkhand

Question ID : 26433071664
Status : Answered
Chosen Option : 4

Q.2 The (ABDM) aims to develop the backbone necessary to support the

integrated digital health infrastructure of the country.

Ans X 1. Ajay Bharat Digital Mission

/< 2. Ayushman Bharat Digital Management

«” 3. Ayushman Bharat Digital Mission

< 4. Ayushman Bharat Digital Map

Question ID : 264330116166
Status : Answered
Chosen Option : 3

Q.3 Which one of them is NOT a fundamental duty?
Ans X 1. Cherishing the ideas of national freedom struggle

5 2. Respecting the national anthem
/< 3. Respecting the national flag

«” 4. Duty to cast your vote

Question ID : 26433089180
Status : Answered
Chosen Option : 1

Q.4 Ziyauddin Barani wrote his chronicle’s first version in

Ans 7 1.1356
X 2.1288
< 3.1358
X 4.1402

year.

Question ID : 26433089124
Status : Not Answered
Chosen Option : --

Q.5 Dhananjaya Yashwant Chandrachud has been appointed as the Chief Justice of

India in October 2022.
Ans X 1.30th

X 2.20th
X 3.40th
4. 50th

Question ID : 264330114922
Status : Answered
Chosen Option : 4




Ans & 1. Piyush Goyal
< 2. Ashish Gupta
/< 3. Satya Lolla
< 4. Raghu Raman

Q.6 Who has been selected as the new Chief Executive Officer of National Intelligence Grid
(NATGRID) in August 2022 by the Central Government?

Question ID : 264330115023
Status : Not Answered
Chosen Option : --

Ans X 1. Kartik
/< 2. Phalgun
«” 3. Chaitra
< 4. Ashvin

Q.7 The festival of Ram Navami is celebrated in the Hindu month of

Question ID : 264330115098
Status : Answered
Chosen Option : 1

Ans X 1.1764
X 2.1755
X 3.1760
& 4.1757

Q.8 Battle of Plassey was fought in

Question ID : 264330115701
Status : Answered
Chosen Option : 4

General of India?
Ans 7 1. Article 76

X 2. Article 279A
#< 3. Article 243ZE
X 4. Article 243|

Q.9 Which among the following articles of the Indian Constitution relates to the Attorney

Question ID : 26433089912
Status : Answered
Chosen Option : 1

Ans & 1. Sclerenchyma
< 2. Collenchyma

< 3. Xylem
< 4. Parenchyma

Q.10 Husk of a coconut is made of

Question ID : 264330115203
Status : Not Answered
Chosen Option : --




Q.11 is a trade policy that doesn't restrict imports or exports.
Ans X 1. Fair trade

o 2. Free trade
5 3. Local trade
25 4. Swiss trade

Question ID : 264330115386
Status : Answered
Chosen Option : 2

Q.12 Who was the first transgender to be honoured with Padma Shri?
Ans X 1. Karthik Chandra Rath

/% 2. Shanti Devi
«” 3. Narthaki Nataraj
5 4. Rama Murthy

Question ID : 264330115820
Status : Answered
Chosen Option : 3

Q.13 Who was the host of the Asian Games 2018?
Ans X 1. Singapore

< 2. India
¢ 3. Indonesia
/< 4. China
Question ID : 264330115917
Status : Answered
Chosen Option : 4
Q.14 As a Banker to Banks, the also acts as the ‘lender of the last resort".

Ans X 1. Nationalised bank of India
/< 2. State bank of India
«” 3. Reserve bank of India
#< 4. Union bank of India

Question ID : 264330115320
Status : Answered
Chosen Option : 3

Q.15 India won its last ODI Cricket world cup in which year as of 2022?
Ans 7 1.2011

2 2.2003
X 3.2007
X 4.1983

Question ID : 264330116248
Status : Answered
Chosen Option : 1




Q.16 The chemical reaction which involves addition of or removal of
is called reduction.

Ans X 1. carbon dioxide, hydrogen
< 2. carbon dioxide, oxygen
«” 3. hydrogen, oxygen

/< 4. oxygen, hydrogen

Question ID : 264330115157
Status : Answered
Chosen Option : 3

Q.17 Match the following types of industries to their examples:
a) Agro based industry i) Hotels and Restaurants

b) Public sector industry ii) Iron and steel industry

c) Private sector industry iii) Silk textile

d) Mineral based industry iv) BHEL and SAIL

Ans X 1. a-iv,b-iii,c-ii,d-i
& 2. a-i,b-ii,c-iii,d-iv
< 3. a-iv,b-ii,c-i,d-iii
& 4. a-iii,b-iv,c-i,d-ii

Question ID : 264330115567
Status : Not Answered
Chosen Option : --

Q.18 Which instrument is used to measure the vibrations during an earthquake?

Ans X 1. Mercalli scale
«” 2. Seismograph
/< 3. Hygrometer
75 4. Richter Scale

Question ID : 264330116003
Status : Answered
Chosen Option : 2

Q.19 What was the slogan of the 2011 Census of India?
Ans X 1. Our Census - Our Pride

/< 2. Our Census - Secured Future
2< 3. India’s Census - India’s Pride
o 4. Our Census - Our Future

Question ID : 264330116029
Status : Not Answered
Chosen Option : --

Q.20 The Fourth Five Year Plan had began in the year
Ans o 1.1969

< 2.1966
X 3.1962
K 4.1973

Question ID : 264330116119

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Section : Part-C-Elementary Mathematics




Q.1 The average weight of eight persons is 40 kg. If one person is removed, then the
average weight becomes 38 kg. The weight of the removed person is:

Ans X 1.38kg
« 2. 54 kg
X 3.33.25kg
X 4.78kg

Question ID : 26433087343
Status : Answered
Chosen Option : 2

Q.2 The cost price of an article is 64% of the marked price. Calculate the gain percentage
after allowing a discount of 20%.

Ans X 1.35%
& 2.25%
X 3.30%
X 4.20%

Question ID : 26433073015
Status : Answered
Chosen Option : 2

Q.3 Atul alone can complete a work in 114 days. How many persons were required with the
same efficiency as Atul to complete the same work in 19 days?

Ans X 1.7
& 2.6
K 3.5
X 4.8

Question ID : 264330116850
Status : Answered
Chosen Option : 2

Q.4 There is a cone with diameter 14 cm and height 12 em. It is being filled with water at a rate of 4 cmn® in every 10

s. How long will it take to fill the cone? (Use = 272)

Ans X 1.616s
& 2.1540's
/< 3.3080s
X 4.6160 s

Question ID : 26433087414

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q.5 The fourth proportional to 2 hours 40 minutes, 1 hours 20 minutes and 10 hours is:
Ans X 1.4 hours

75 2.6 hours
«” 3.5 hours
75 4.2 hours

Question ID : 26433081579
Status : Answered
Chosen Option : 3




Q.6 The average weight of 34 persons is increased by 3 kg when one person weighing 90
kg is replaced by a new person. Weight of the new person is:

Ans X 1.196 kg
X 2.202 kg
X 3.190 kg
& 4.192kg

Question ID : 26433079998

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.7 Find the difference between the digits of the greatest number that can exactly divide
144 and 216?

Ans X 1.2
X 24
X 3.3
L 4.5

Question ID : 264330116639
Status : Answered
Chosen Option : 3

Q.8 Two persons P and Q working together can do a piece of work in 36 days. Q alone can
do it in 45 days. Q alone start the work and left the work after 5 days. How many days
will P take to complete the remaining work?

Ans X 1.180

X 2.120
< 3.140
4. 160

Question ID : 26433080229
Status : Answered
Chosen Option : 4

Q.9 Divide ¥ 5,309 between A and B, so that the amount of A after 4 years is equal to the
amount B after 6 years, the interest being compounded at 6% per annum,
compounding annually.

Ans 1 32,809, 22,500
X 2 32,759, 32,550
X 3. 32,659, 2,650
X 4. 32,709, 2,600

Question ID : 26433074299
Status : Not Answered
Chosen Option : --




Q.10 If the third proportion to 3 and 27 is ‘x’, then what would be the HCF of ‘x’ and 27?

Ans X 1.9

o 2.27

X 3.3

X 4.15

Question ID : 26433076008
Status : Answered
Chosen Option : 2

Q.11

If% of 184 Xx 15+ 5+k=513+9 4+ 435 then the value of k is:

Ans X 1.192
& 2. 147
< 3.239
X 4.136

Question ID : 26433074974
Status : Answered
Chosen Option : 2

Q.12 In an election between two candidates, 80% of the voters cast their votes out of which
5% of votes were declared invalid. A candidate got 285000 votes which was 75% of the
total valid votes. The total number of voters enrolled for that election was:

Ans 7 1.500000
/< 2. 450000
Z< 3.400000
/< 4. 550000

Question ID : 26433087351
Status : Not Answered
Chosen Option : --

Q13 A solid hemisphere has a volume of 1,152 7t em?. Find the curved surface area of the hemisphere.
Ane K1 344 om?

¥ 2 2881 cm?

X3 3027 cm?

X4 204 cm?

Question ID : 26433075857
Status : Answered
Chosen Option : 2

Q.14 The population of a city in the beginning of 2019 was 82,000. Its population is
increasing at a rate of 2% annually. What is its population (rounded off to the nearest
integer) in the beginning of 20227

Ans X 1.85000
X 2.86789
2< 3.88000
& 4.87019

Question ID : 26433075983
Status : Answered
Chosen Option : 1




Q.15 Shlok drives the first 140 km in 3 hrs and the next 180 km in 5 hrs. What is his average
speed (in km/h) for the entire trip?

Ans X 1.50
K 2.45
< 3.30
& 4. 40

Question ID : 26433075241
Status : Answered
Chosen Option : 4

Q.16 A man sells rice at 10% profit and uses a weight that is 20% less than the actual
measure. His gain percentage is:

Ans

2

X1 -0
3?3;{3
&2 371"/
. 5 b

_ 1
> 3. —o
3?‘5/6

1
X 43720
373/0

Question ID : 26433075149
Status : Answered
Chosen Option : 3

Q.17 The selling price of a product is such that the seller earns a profit of 20% on the cost
price. Determine the ratio of selling price to cost price.

A
ns me
4
x2 2
6
3 6
5
_ 4
X4 =

Question ID : 26433071306
Status : Answered
Chosen Option : 3

Q.18 Marked price of an article is Rs. 1600 but Rohan gets a discount of 20 percent. He sells
the article for Rs. 1600. Rohan's gain percent is:

Ans X 1.18 percent
X 2. 22 percent
«” 3. 25 percent
< 4. 20 percent

Question ID : 264330116735
Status : Answered
Chosen Option : 3




Q.19 A fruit merchant makes a profit of 25% by selling mangoes at a certain price. If he
charges Rs.3 more on each mango, he will gain 40%. Find the cost price of one mango

Ans X 1.Rs.30
& 2.Rs.25
 3.Rs.20
& 4.Rs.15

Question ID : 26433074985

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.20 A boat is moving in still water at a speed of 15 km/h. The speed of the stream is 3
km/h. How much time will the boat take to cover 6 km upstream?

Ans & 1. 30 minutes
25 2. 15 minutes
25 3.20 minutes
/5 4. 45 minutes

Question ID : 26433075986
Status : Answered
Chosen Option : 3

Section : Part-D-English

Q.1 In the following passage, some words have been deleted. Read the passage carefully
and select the most appropriate option to fill in the blanks.
Blood transfusion is a procedure that starts with the doctor (1) the patients’
blood type. In case of a wrong transfusion in the immune (2) of an individual, it
leads to an infection.

Ans X 1. diagnosing; structure
> 2. treating; process
” 3. determining; system
X 4. settling; order

Question ID : 26433084742
Status : Answered
Chosen Option : 3

Q.2 Select the most appropriate synonym of the underlined word.
Since the last few hours his pulse rate is constant.
Ans 7 1. Steady
5 2. Fickle
7 3. Pitiful
X 4. Reflective

Question ID : 26433084682
Status : Answered
Chosen Option : 1




Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence to make it a meaningful sentence. If no substitution is required, select ‘No
substitution’.

There are hundred of superstitions that survive in various parts of the country, and the
study of them is rather amusing.

Ans X 1. There are hundred of superstition that survive in various parts of the country, and the
study of them is rather amusing.
% 2. There are hundred of superstition that survived in various parts of the country, and
the study of them is rather amusing.

< 3. No substitution

«” 4. There are hundreds of superstitions that survive in various parts of the country, and
the study of them is rather amusing.

Question ID : 26433092043
Status : Answered
Chosen Option : 4

Q.4 Select the most appropriate meaning of the given idiom.
Wear your heart on your sleeve
Ans X 1.Imagining unreal things about others
25 2. Wearing untidy clothes intentionally
/% 3. Spreading scandals mercilessly

«” 4. Expressing emotions very openly

Question ID : 26433073486
Status : Answered
Chosen Option : 4

Q.5 Select the most appropriate ANTONYM of the given word.
Lucid

Ans 7 1. Dark
/< 2. Bloat

75 3. Jolt
< 4. Stark

Question ID : 26433066087
Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate synonym of the given word.
Valid
Ans X 1. lllicit
2 2. Evil
«” 3. Logical
< 4. Fake

Question ID : 26433073688
Status : Answered
Chosen Option : 3




Q.7 Select the most appropriate ANTONYM of the given word.
Verbose
Ans X 1. Talkative
«” 2. Brief
/< 3. Polished
5 4. Wordy

Question ID : 26433072665
Status : Answered
Chosen Option : 2

Q.8 The given sentence is divided into three segments. Select the option that has the
segment with a grammatical error. If there is no error, select 'no error' as your answer.

Ameya won't / eat / any junk food at all.
Ans X 1. Ameya won't
«” 2. No error
&< 3. eat
< 4. any junk food at all

Question ID : 26433071859
Status : Answered
Chosen Option : 1

Q.9 Select the INCORRECTLY spelt word.
Ans X 1.Brandish

«” 2. Covardice
/< 3. Treachery
5 4. Statutory

Question ID : 26433073506
Status : Answered
Chosen Option : 2

Q.10 Select the most appropriate option to fill in the blank.
My uncle’s legal is his son.
Ans 7 1. heir
< 2. hair
< 3. here
< 4. hare

Question ID : 26433073933
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate spelling that can correctly substitute the misspelt
underlined segment in the given sentence.

The thick dirt on the building was the acretion of ages.
Ans X 1.accration
” 2. accretion
< 3. acration
#< 4. acrettion

Question ID : 26433071936
Status : Answered
Chosen Option : 2




Q.12 Select the most appropriate option to fill in the blank.

| have made the basket for going to the picnic and I've packed some sandwiches

Ans X 1.two

o 2. too
X 3.t
X 4. toot

Question ID : 26433084617
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate homonym to fill in the blank.
The authorities the unregistered companies.

Ans X 1.sees
o 2. seize
< 3.seas
75 4. cease

Question ID : 26433058519
Status : Answered
Chosen Option : 2

Q.14 Select the most appropriate meaning of the given idiom.

To add fuel to fire.
Ans 1. To make a bad situation worse

/< 2. To speak against someone
/< 3. To fight over trivial thing

25 4. To start the conversation

Question ID : 26433072537
Status : Answered
Chosen Option : 1

Q.15 Substitute the underlined words with the option that is closest in meaning to it.
Rahul likes to keep his house spic and span.
Ans X 1.shabby and dirty
«” 2. neat and clean
5 3. bright and glory
/< 4. rich and famous

Question ID : 26433088952
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Ayurveda views a person more than bones and muscle. According to it, you are a spirit that
represents the vata, pitta, and kapha elements. Ayurveda (1) ___ impacts your health by
bringing an (2) in your body, mind, and soul. By consuming healthy food according to
the body’s constitution, and performing yoga stretches, and meditation, you will start to see
(3) results.Ayurveda impacts the body at the deepest cellular levels. It helps in
healing, and (4) of cells, to protect it from a wide range of ailments naturally. According
to Ayurveda, when a person eats wrong food, then “ama” or toxin gets deposited in the body.
If this waste-product is not eliminated from the body soon, then it starts to spread in different
areas of the body. This is the major reason behind experiencing an (5) ____in the body.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank 1.
Ans X 1.casually

" 2. positively
/5 3. negatively
75 4. probably

Question ID : 26433073176
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Ayurveda views a person more than bones and muscle. According to it, you are a spirit that
represents the vata, pitta, and kapha elements. Ayurveda (1) ___ impacts your health by
bringing an (2) in your body, mind, and soul. By consuming healthy food according to
the body’s constitution, and performing yoga stretches, and meditation, you will start to see
(3) results.Ayurveda impacts the body at the deepest cellular levels. It helps in
healing, and (4) of cells, to protect it from a wide range of ailments naturally. According
to Ayurveda, when a person eats wrong food, then “ama” or toxin gets deposited in the body.
If this waste-product is not eliminated from the body soon, then it starts to spread in different
areas of the body. This is the major reason behind experiencing an (5) ____in the body.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank 2.
Ans X 1.foundation

o 2. equilibrium
< 3. basis

X 4. substance

Question ID : 26433073177
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Ayurveda views a person more than bones and muscle. According to it, you are a spirit that
represents the vata, pitta, and kapha elements. Ayurveda (1) ___ impacts your health by
bringing an (2) in your body, mind, and soul. By consuming healthy food according to
the body’s constitution, and performing yoga stretches, and meditation, you will start to see
(3) results.Ayurveda impacts the body at the deepest cellular levels. It helps in
healing, and (4) of cells, to protect it from a wide range of ailments naturally. According
to Ayurveda, when a person eats wrong food, then “ama” or toxin gets deposited in the body.
If this waste-product is not eliminated from the body soon, then it starts to spread in different
areas of the body. This is the major reason behind experiencing an (5) ____in the body.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank 3.
Ans X 1.invisible

< 2. gentle
/5 3. sluggish
o 4. visible

Question ID : 26433073178
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Ayurveda views a person more than bones and muscle. According to it, you are a spirit that
represents the vata, pitta, and kapha elements. Ayurveda (1) ___ impacts your health by
bringing an (2) in your body, mind, and soul. By consuming healthy food according to
the body’s constitution, and performing yoga stretches, and meditation, you will start to see
(3) results.Ayurveda impacts the body at the deepest cellular levels. It helps in
healing, and (4) of cells, to protect it from a wide range of ailments naturally. According
to Ayurveda, when a person eats wrong food, then “ama” or toxin gets deposited in the body.
If this waste-product is not eliminated from the body soon, then it starts to spread in different
areas of the body. This is the major reason behind experiencing an (5) ____in the body.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank 4.
Ans ¢ 1. regeneration

X 2. benefit
< 3. degeneration
& 4. loss

Question ID : 26433073179
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Ayurveda views a person more than bones and muscle. According to it, you are a spirit that
represents the vata, pitta, and kapha elements. Ayurveda (1) ___ impacts your health by
bringing an (2) in your body, mind, and soul. By consuming healthy food according to
the body’s constitution, and performing yoga stretches, and meditation, you will start to see
(3) results.Ayurveda impacts the body at the deepest cellular levels. It helps in
healing, and (4) of cells, to protect it from a wide range of ailments naturally. According
to Ayurveda, when a person eats wrong food, then “ama” or toxin gets deposited in the body.
If this waste-product is not eliminated from the body soon, then it starts to spread in different
areas of the body. This is the major reason behind experiencing an (5) ____in the body.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank 5.
Ans X 1.weakness

5 2. potential

& 3. energy
o 4. imbalance

Question ID : 26433073180
Status : Answered
Chosen Option : 4

Section : Part-D-Hindi

Q.1 gud Bg ¥ g&i & 79 Uewa 3md & 1’ a1y H W Uedd eg BT 34 3-
Ans 1. Tl

X 2. 81t

X 3.%d

&< 4. TmEm

Question ID : 26433069742
Status : Not Answered
Chosen Option : --

Q.2 I Hdl g I' TH IR H ¥@iTPhd g S VI W IUYSH g T gRI?
Ans X 1. ggaEm

X 2. e @A

o 3. Hiar

X 4. Toiftrran

Question ID : 26433062779
Status : Not Answered
Chosen Option : --

Q3 afgf w1 @ Raw e 7 e
Ans X' 1.9

X 2.fAqf®

3. 3Ty

X 4.3

Question ID : 26433062924
Status : Not Answered
Chosen Option : --




Q.4 fHfefad faeedl & ¥ YR a1 ATUS Faw & fovg Ao areiz & fore T arde

e T BNIT 2
Ans X 1. "Radr

o 2. 3UAE
X 3. oqd
X 4. 3TcEH

Question ID : 26433062475
Status : Not Answered
Chosen Option : --

Q.5 A P ATAR A F e A e -
Ans X' 1. THH

2. TUTHH

X 3. pHP

X 4. 3=

Question ID : 26433065869
Status : Not Answered
Chosen Option : --

Q.6 m@am%ﬂwmﬁmmwwmv
YU PAR I AT R F R

Ans X 1.z ¥ faq@r
o 2. U B ADS!

X 3.F16 & I
X 4. vt & i

Question ID : 26433066735
Status : Not Answered
Chosen Option : --

Q.7 gd-il # e} A SN[ I BT 997 Bif-
Ans X 1.7 MUY gEl & fog AT aRar g
X 2. 3 ITPT SRARIAT P IR T AT ATl
X 3. 98 30 3Y & g o o sifaanigd uTl
o 4. X HT 1G0T AR 4T

Question ID : 26433062892
Status : Not Answered
Chosen Option : --

Q.8 fafifed el § & 5w e areg A frar aw=h xS 82
Ans X 1. IR I gU UPS I R 39 R g1 U U T

X 2. 98 ISP GISel B

3. TR & INA W BRI G HIag g1 SIaHT gyl

X 4. U SR AT S|

Question ID : 26433091233
Status : Not Answered
Chosen Option : --




Q9 iy & Hafler araiw & e T 2reg Bi-
Ans X 1. WHR

« 2. iiefd®

X 3.du

X 4. QIS

Question ID : 26433065734
Status : Not Answered
Chosen Option : --

Q.10 3I[E el T AR AT |
Ans o 1. 98d U1 - T3 & TG Herol H DT Y 3|

X 2. U TER B
X 3. T B g ¥ B a1 W gl
X 4. 99 T firam 3 I ot

Question ID : 26433063064
Status : Not Answered
Chosen Option : --

Q.1 fafafEd arer # YEifed e & WM W Tga g 910 T SUgad [aeeq o1 aa+
ﬁgﬁzmsﬁl
Ans X 1.9
Xod
3. D
Xa4®

Question ID : 26433079571
Status : Not Answered
Chosen Option : --

Q.12 Fafafad el & A 5T ve arg § fa=ivo o1 Sfra v frar g2
Ans X 1. O ¥ Tgredl

X 2. S W S|

3. W31 ma @ef |

X 4. T =S

Question ID : 26433062961
Status : Not Answered
Chosen Option : --

Q.13 Fufafad fasel & @ g7 a=r gerar o1 s w2
Ans X 1 WIBH

X 2. FRmreE

X 3. QUEA

o 4. &I B

Question ID : 26433062552
Status : Not Answered
Chosen Option : --




Q.14 gf¥ & fmfar s §, @ e
ﬁﬁ%mﬁﬁmmﬁﬁaﬁmﬁaﬁqﬁaﬁml

X 1. Axfts
X 2. Y
X 3.fay

o 4. BaEA

Ans

Status :
Chosen Option : --

Question ID : 26433084990
Not Answered

Q15 ARER FTERIVITWR____ T ”
IRIe TR B e RIF W 79 § @ opw g 7 TN 9aiie Sugad gim?

Ans X' 1. 3fHTT
K 2. 9m/n
X 3.
o 4.l
Question ID :
Status :

26433067005
Not Answered

Chosen Option : --

Comprehension:

Fofiad T A oo wsql & ger foar T 31 3T U fawet 3 graar & Rad =il @t gfd
FIOTY | TS AT & RTE qad) I fdehed &1 70 |

TR & Y el YR & woft §, 3778 Aa Siia 1. 21 98 Ia-uHg AR 2. G
3 Y 1 HRAT AT qUT IS oY 7T STARH 8 7 I 30 3. T Uga1 & | IS
SleA @t 4. vl & OTd 98 MBI AT e I St Sl B | Siia Ueb UBR B 5.
_ B e NaTue sgHa dId 8

SubQuestion No : 16
Q.16 fYaa = 1 3t gfd F e T Iuge fawe &1 397 Fifvm|

Ans X 1. URY
o 2. Td9%
K 3. 3Y
K4
Question ID :
Status :

264330111029
Not Answered

Chosen Option : --

Comprehension:

Fofofad T & oo wsql & ger foar T 31 3 T fawet 3 geraar & Rad =it @t gfid

FIY | TP WA & TT qadl IUYad [ddhed &1 70 i |

TR § Y s] UHR & Uroft &, 3980 AHg Sfia 1. HEIEREEERYS AR

5 I T BT AR YT IV [T T TN § oY I S0 3. TP U & | IAP

S @1 4. Tt & S99 SHiET A1 W6T AR S Adid B Siad U USR B 5.
% eI Nd T sHa g g

SubQuestion No : 17
Q.17 Yo w2 B g & R wa Suged faseu o1 9a- S|

Ans X' 1. 3JUIR
X 2. sifard
3. Fofg
X 4.3@a
Question ID :
Status :

264330111030
Not Answered

Chosen Option : --




Comprehension:

Fofoiad T A 5o sl & ger foar T 31 3 T fawet 3t geraar & Rad =it ot gfid
FIOTY | YA TS & RTE qad ST dhed &1 70 i |

R & YS! UHR & W07 &, TTH 79 S 1. T 38 IO-EAe IR 2. qae
o5 I 1 3T TNRY TUT IS forw Fm Il € o I 31T 3. q% UgaI ¢ | I9d
ST @t 4. it & 519 a8 SMHiET A1 TeT ABR Siia- Adld B | SiiaH T UHR B 5.

_ B RINOTuAT sgHa B §
SubQuestion No : 18
Q.18 Yo =T 3 F1 gfef F oI wad Sugad faswey &1 au- sifere|
Ans X 1.FdA
X 2.URY
o 3. 1&
X 4.

Question ID : 264330111031
Status : Not Answered
Chosen Option : --

Comprehension:

Frofoiad M o oo sal & ger foar T g1 e T fawet 3 geraar @ Rad wirt @t gfd
FIY | YA AT & foTT qad) SUgad [dded &1 90 i |

TR § Y <] UHR & Uioft &, 3980 AHg Sfia 1. 1 38 Ia-THg IR 2. AT
o5 3T 1 3T 1Y YT IS forw Far Il € o I 31T 3. T Ugal ¢ | 39P
St @1 4. qft § STa I8 3MTepiel A1 A8 AR Sita Sdid B | Siia U TR Bt 5.

_ ® 9 AU sgHa B 7
SubQuestion No : 19
Q.19 o I 4 F gfd & R gad Suged fawe 1 aa7 S|
Ans X 1. fawadr
X 2. Heayqul
X 3. Fm
o 4. Trdaar

Question ID : 264330111032
Status : Not Answered
Chosen Option : --

Comprehension:

Fafaraa T & oo Weal & ger faar mar 31 o Tu fawent ot e 9§ Rad =i @ gfid
FITY | JAH T & foTe Yo Iugad fadhed &1 7a9 |

TR 7 Ybs! UHR P Uruft §, 378 A Sfia 1. 1 98 Aa-THY IR 2. AqAd®
1% 3 o1 HRAT AMPT qUT 3T oY 77 IuaRft 8 ot I 30 3. T Ugal ¢ | 39b
S 1 4. quft & 519 I8 SMTepiel U1 A& AR Sita Sdd B | Siia U UHR Bl 5.

2, STef g e 3/gya B |

SubQuestion No : 20
Q.20 f¥ed &I 5 3t gfdf & e wad Sugw fawed &1 99+ Fifom)
Ans 1 TR

2 2. foraraman

X 3. oz
7 4. A

Question ID : 264330111033
Status : Not Answered
Chosen Option : --
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